WIET-ER (M R) [ 2004 81)
_ FET-F(%) SETAEBIEU(AN) SEBIE(N)
BEDEMIFEY E] 7.7 2 26
= 35.7 5 14
e 175 7 40
BEOEMHEY ] 19.2 5 26
= 8.3 3 36
21 12.9 8 62
ERBOEMLHEY 3] 19.0 4 21
= 11.1 1 9
21K 16.7 5 30
SEXBLUMOE I EY E:] 52.9 9 17
T 36.4 4 11
21k 46.4 13 28
SMLHEE 5 0.0 0 3
= 0.0 0 1
21K 0.0 0 4
fifi 2% ] 155 9 58
= 7.0 3 43
21K 11.9 12 101
TS E:] 0.0 0 4
= 0.0 0 7
£ 0.0 0 11
[ EES E: 44 5 114
= 11.1 7 63
21K 6.8 12 177
A HH i E] 16.7 4 24
= 8.3 2 24
£ 12.5 6 48
HERTR E:] 10.7 3 28
= 0.0 0 17
21K 6.7 3 45
KEREHEREHT ] 0.0 0 16
= 0.0 0 40
£k 0.0 0 56
BiEE ] 0.0 0 2
= 0.0 0 4
£k 0.0 0 6
LS PN ] 0.0 0 14
= 0.0 0 31
£k 0.0 0 45
SMRER ] 0.0 0 19
= 0.0 0 16
£k 0.0 0 35
R E E:] 0.0 0 49
= 0.0 0 45
2k 0.0 0 94
AT 3L AR AR KAE 5 14.3 1 7
= N/A 0 0
21 143 1 7
BHHNE L 0.0 0 25
= 0.0 0 45
2k 0.0 0 70
7 ] 0.0 0 2
= 0.0 0 1
21 0.0 0 3
FEME ] N/A 0 0
S 0.0 0 14
21k 0.0 0 14




BMEETEER) [E2mFH) 2023/06/26

_ FET-F(%) SETAEBIEU(AN) fiEfFIER(N)
RIDAE 5 0.0 0 11
= N/A 0 0
e 0.0 0 11
BRHERURERER E:] 0.0 0 18
S 0.0 0 12
21 0.0 0 30
ALEOEETEY ] N/A 0 0
= 6.3 2 32
21K 6.3 2 32
FRBEETAE E:] 0.0 0 9
T 0.0 0 32
21k 0.0 0 41
BEAIZT 5 0.0 0 37
= 0.0 0 3
E 0.0 0 40




